TR TR B o

Abel FHFE

1 el R

27 1 Hardy #l Wright, Theory of Numbers. 55 E A E v +yi, H
oo My ERREEL BAME-IRE T, BRT 1R SRR

1. a+bi GO a® + b2 B

2. BHR, BRPL4 & 3 HERK

WRE X N(z+yi) = 2> +y?, W24 N(uww) = Nu)N).(Bh) % p &
B, HFHBRA 4 REORET 3, W4 p=d® + 0> H—E. 47 n=3mod4,
4 n=a?+ b iR

XTI « + yi SRk, HB— 1T N(x + yi)
L % 2 By N(x +yi), BAA (1+10)(1 — i) BE x + yi. AT
A, B i —1) =i+ 1.
2. %7 p=3mod4 % N(z+yi), B4 p gz + yi.

3. & p=1modd 3% Nz +yi) Hp=a>+b, B4 a+ bi 8
b+ ai = i(a — bi) BEWR « + yi. FHNEARERER, A p B = + yi.



2 ARET TR EINRK 2

2 TEROET m MRIEVIZAA

2.1 Jgipg
n; arctan L2} + ng arctan Lz} + - =n1Arg(zy + iy1) + noArg(as +iys) + - -
Ty T2

FRA © + iy R, IMAFRE 0 MBS A ERT (BE 1449 A
x, FARR /4 B K G CBER). B Ry, BN TRAME XL
o K =0, i3 SOEY A SRR, SIS 7T © A= Frl
arctan(l/x), TR (x +1). Flan

82 4+1=13x%x5
182 +1=13 x 52
572 4+1 =13 x 5% x 2

Ht, AR

8+i=(3+42i)(2—1)
18 41 =(3—2i)(2—1)%
57 +1i = (3 —2i)(2 +4)*(1 — i)

oM B B SR

(8 + i) (18 4+4)° (5T +14)° = (34 2i)*07¢(2 +4) 72~ 20F3¢(1 — 4)<4®

B KT 7 A, TS a—b—c=0,—a—2b+ 3c =0, HH/MIfE
a=5b=2c=3. HIL

(8+4)°(18 +1)*(57 +i)® = (1 —7)%i?



2 AEmkT magRENX

XA, 153

1 1 1 T
5 arctan 3 + 2arctan 13 + 3arctan — = —

o7

2.2 7 AR

s 1
— = arctan 5 + arctan —

3

™ — 2arctan = + arctan =
— = arctan — arctan —
1 3 7

1 1
4 — 4&10(3411 5 aICtaIl

239

—2211 tan*‘l‘a] 'a“*+2al ‘ani
C C C 3

s 1 1
Z = 3arctan — + arctan — — arctan —

4 13 38

T _ farctan - tan — + arct
- = arctan — — arctan — arctan —
1 70 99

ar ta“ +23[ an + ar ‘an
C C C

1 1 1 1
g = Tarctan 1 5arctan 39 + 3arctan — — 4arctan —

132

4

378

oA I E b 2 e LA, Hod SEREBURAE, & T P

SPRRIIE AR P RIF R RO R

T 1 1 1 1
1 = Tarctan — + arctan — — 2arctan — — 2arctan —

32 132

T 1 1 1 1
1 = Tarctan — + 8arctan 35~ 2arctan — + Harctan —

132

378

378



3 REWAH I X

3 RIEVIA BRI

3.1 AXZEH
ATPASRBIRZ D) A SR RITaC, i

1 1
arctan ﬁ = arctan — -+ arctan —

o7 68

1
= arctan ﬂ + arctan —

105

tan — tan — + arct
arctan — = ar n— —_—
a) 50 arcta. 91 arctan 111
tan — tan — tan —
arctan —— = arctan —— — ar n—
239 70 Mg

1
= arctan — + arctan ——

408 LY

— arctan

= arctan

arctan

2441 1164 2225
= arctan + arctan
4774 4995
arct L t L + t L t
an — = arctan — — = —
3 arcta, 33 arctan 132 arctan 378
2arct L + t L t
= 2arctan — T — —
arcta. = acan239 arc an2943
3.2 Rt
FOEY) B B I8 655 751
1
arctan — — arctan = arctan ——
n n?+n+1



3 REWAH I X

3.3 J—HEJr

]‘& Ty = ]-ayO - 0) W\&EEUEIEE

Ty = Tp-1+ 2Yn_1

Yn = Tn-1+ Yn—1

1
+ arctan — = arctan
Yon Lon Lon—1

arctan

1
arctan — — arctan = arctan
an Lon $2n+1




3 REWAH I X

WARARVEAFA SO URA Bra &, I ARG RV B —

@ MIsE



